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A : 2,444,700
2015-01-01 (M-S S22 ute| 7HEZ| H|E 119,000 | Y4=
2015-01-02 (w3| Heto| 2HA Xjete| 7HE D] H| S 40,000 | Y=
2015-01-05 |pEO|M| MM || 2 ate| 2HEZ| H| & 44000 | Y=
2015-01-06 |22tA|S 22 YLl 7HE | H|E 136,000 | Q=2z
2015-01-10 |[Z& & DIYEH BA Xt 7HE S| H|E 20,000 o E
2015-01-12 (T 2|HE 7 & 2T AKXt HET| HE 25000 | Q@4=
2015-01-12 (o[ {AT L2 Y A THY| 2tARIete| ZHER| H|E 33700 | =3B
2015-01-13 [o|¥EE ZT2oE Q12 BAKXIte| ZHE 3| HIE 60,000 | Y
2015-01-14 (PEFF =2 2P AP AAHE 140,000 | Y%=
2015-01-20 |00/ M3 = x| BAKILO| 7HEF| bl 63000 | Y@=
2015-01-23 |HgN| 2T ChM| A Atete| 2HE S| B 58000 | YT
2015-01-26 (O|OtE Y 2t X|Golatel ZHE 2| B 33000 | T
2015-01-27 |ME22@=g n&Hz2 2 NHE Thy e ZHES| HIE 79,500 RS
2015-01-29 (B &7 FALQIQ 2 ChM| 2HAXIte| 2HEZ| HIE 50,000 | YHE
2015-01-29 |QUA|3| =H| BHad X|SIChy| DHA XtQFO| ZHEHS| H|E 120,000 | GZ
2015-02-04 |R|AHEELR 24 2 X GEHHete] ZHE 2| B & 44000 [ AT
2015-02-06 |Z¥E CHH|Qto| 7HErs| HIE 132,000 | Q==
2015-02-10 |DbA3le|chA| 3| 2nte| ZHES| B[ | 219,500 | Y%=
2015-02-13 |Y& Al2tsiopy 22 Chato| ZHES| HIE 135000 | QY=+
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2015-02-13  (S}3)| ¢ 73| 2HA|XtQto| 2HEHR| H|S 80,000 | Y=
2015-02-16 |FQUXLX| 9 A=| 2| ntel ZtE 3| H|E 121,000 | ==
2015-02-25 |IPMA|RITY A Z Y ZHA|Ateto| 7HENR| ] 69,000 | Y=
2015-02-28 |2t M AKHE & CH A Q| 23| 2HA| REQtO| ZHEND| H| & 53000 | Q4B
2015-03-02 (2tH & FLUXKX|Q {2te| ZHEts| H| & 13,000 | @z=
2015-03-03 |ZQn&CHAMQI S| BAKetO| 7HELS| H| & 45000 | - QY%=
2015-03-10 |opH QI3 2HA Xteto| ZHEE| H| & 26,000 P4z
2015-03-11 |G| AtEEALZ| BHAIXIREL| ZHER| H|E 120,000 A4z
2015-03-11 |otH b EHA| 2| 2l ate| ZHES| H|E 52,000 Q=
2015-03-12 (3}3)| A3| 2HA Xteto| 7HEZ| HIE 117,000 | @==
2015-03-13 |QHMETEEH Zlpinto| ZHE3| HIE 48000 | E4F
2015-03-23 (npE S A 3 A uke| 7HE | H|E 16,000 | =
2015-03-25 (pM7|SH A 2|1l 7HE 2| HIE 112,000 | Y%=
2015-03-31 (ZH & St CHMQ 3| BHA XS] ZHES| HIE 21,000 | Q2=




